C:# Examen des puissances de dix Nom:

Résoudr e chaque probléme. Réponses
1) 92000 000 =9200 2) 9,342 =934,2
—_ e 1.
2.
3) 84,16 =0,8416 4) 925 =9250
_— — 3.
4.
5) 4850000 = 48500 6) 8,446 = 8446
— — 5.
6.
7) 899,9 =0,08999 8 1 =10 000
_ e 7.
8.
9 700 =7 10) 0,225 =2 250
_— — 0.
10.
11) 0,9805 = 0,009805 12) 16 =1600
_ e 11.
12.
13) 2000 =200 14) 0,3028 =3028
_ — 13.
14,
15 0,7208 =0,007208 16) 782 =7 820
_ _— 15.
16.
17) 4360 000 =43 600 18) 5,941 =59410
—_ e 17.
18.
19) 5,865 = 0,5865 20) 324 =32 400
_ e 19.
20.
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Examen des puissances de dix

Nom:

Résoudr e chaque probleme.

1)

3)

5)

7)

9)

11)

13)

15)

17)

19)

92 000000 = 10* =9200

84,16 = 10° =0,8416

4850000 = 10° = 48500

899,9 +10* =0,08999

700 +~10% =7

0,9805 + 10° = 0,009805

2000 + 10" =200

0,7208 + 10° =0,007208

4360000 +10° =43600

5,865 ~ 10" =0,5865

2)

4)

8)

10)

12)

14)

16)

18)

20)

0,342 x 10? =934,2

925 x 10' =9250

8,446 x 10° =8446

1 x10* =10000

0,225 x 10" =2250

16 x 10° = 1600

0,3028 x 10* =3028

782 x10' =7820

5941 x10* =59410

324 x10% =32400

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
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